

HECKE OPERATORS AND LAMBERT SERIES

L. ALAYNE PARSON* and KENNETH H. ROSEN

0. Introduction

By considering the action of Hecke operators on the logarithm of the Dedekind eta function in conjunction with the transformation formula for this function, Knopp [11] proved an extension of an identity for classical Dedekind sums originally proved by Dedekind. In this article, it will be shown that certain Lambert series studied by Apostol [1] are eigenfunctions for certain Hecke operators. Using this information together with the transformation formulae for these Lambert series, an identity for a type of generalized Dedekind sums will be established. This new identity has as a special case an identity previously proved by Carlitz [7].

1. Dedekind's identity and Knopp's extension.

The *classical Dedekind eta function* is defined for $\text{Im } \tau > 0$ by

$$\eta(\tau) = e^{\pi i \tau / 12} \prod_{n=1}^{\infty} (1 - e^{2\pi i n \tau}).$$

The function $\eta(\tau)$ has no zeros in the upper half-plane so it has a single-valued logarithm given by

$$\log \eta(\tau) = \frac{\pi i \tau}{12} - \sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{1}{m} e^{2\pi i m n \tau}, \quad \text{Im } \tau > 0.$$

Now let

$$\begin{pmatrix} u & w \\ k & h \end{pmatrix} \in \text{SL}_2(\mathbf{Z})$$

with $k > 0$. The well-known transformation formula for $\log \eta$ (proved, for instance, in [10]) is

* Supported in part by NSF grant MCS 78-02135

Received March 26, 1980.

$$\log \eta \left(\frac{u\tau + w}{k\tau + h} \right) = \log \eta(\tau) + \frac{1}{2} \log [-i(k\tau + h)] + \\ + \frac{\pi i}{12k} (h + u) - \pi i s(h, k)$$

where $s(h, k)$ is the classical Dedekind sum defined as follows. Let

$$((x)) = \begin{cases} x - [x] - \frac{1}{2} & \text{if } x \notin \mathbb{Z} \\ 0 & \text{if } x \in \mathbb{Z} \end{cases}$$

Then the classical Dedekind sum is

$$s(h, k) = \sum_{\mu \pmod{k}} \left(\left(\frac{\mu}{k} \right) \right) \left(\left(\frac{h\mu}{k} \right) \right).$$

Dedekind's work [8] contains the identity

$$(1.1) \quad s(ph, k) + \sum_{m=0}^{p-1} s(h + mk, pk) = (p+1)s(h, k)$$

for p prime and $k > 0$. An elementary proof of (1.1) may be found in Rademacher and Whiteman [17]. Recently, Knopp proved

$$(1.2) \quad \sum_{\substack{ad=n \\ d>0}} \sum_{b \pmod{d}} s(ah + bk, dk) = \sigma(n)s(h, k)$$

where $k > 0$ and $\sigma(n)$ is the sum of the positive divisors of the integer n . It is easy to see that when n is prime (1.2) reduces to (1.1).

To briefly explain the idea behind Knopp's proof of (1.2), it is first necessary to define the Hecke operators. For a function f the Hecke operators of weight k are defined by

$$T_k(n)f(\tau) = n^{k-1} \sum_{\substack{ad=n \\ d>0}} \sum_{b \pmod{d}} d^{-k} f \left(\frac{a\tau + b}{d} \right).$$

In his proof of (1.2), Knopp first showed that for $n \in \mathbb{Z}^+$,

$$(1.3) \quad T_0(n) \log \eta(\tau) = \frac{1}{n} \sigma(n) \log \eta(\tau) + C(n)$$

where $C(n)$ is a constant (depending only on n). Using the transformation formula for $\log \eta(\tau)$ to study the transformation properties of both sides of (1.3), Knopp showed that (1.3) has a consequence the identity (1.2).

2. The Lambert series and the effect of Hecke operators.

Apostol [1] has studied the Lambert series

$$G_q(x) = \sum_{n=1}^{\infty} \sum_{m=1}^{\infty} m^{-q} x^{mn}$$

for $|x| < 1$ and q an odd integer, $q > 1$. Let

$$H_q(\tau) = G_q(e^{2\pi i\tau}) .$$

The function $H_q(\tau)$ is an eigenfunction of the Hecke operators of weight $1 - q$ as the following theorem demonstrates.

THEOREM 2.1. *Let $T(n) = T_{1-q}(n)$ be a Hecke operator of weight $1 - q$ with q and odd integer, $q > 1$, and $n \in \mathbf{Z}^+$. Then*

$$(2.2) \quad T(n)H_q(\tau) = n^{-q}\sigma_q(n)H_q(\tau)$$

where $\sigma_q(n)$ is the sum of the q -th powers of the positive divisors of n .

PROOF. To prove (2.2) one first deals with the case when n is prime. Then using an induction argument the identity is proved for prime powers. Finally, using the multiplicativity of the Hecke operators, (2.2) is established for arbitrary n .

When $n = p$, p prime, one has

$$\begin{aligned} T(p)H_q(\tau) &= p^{-q}H_q(p\tau) + p^{-1} \sum_{b=0}^{p-1} H_q\left(\frac{\tau + b}{p}\right) \\ &= p^{-q} \sum_{n=1}^{\infty} \sum_{m=1}^{\infty} m^{-q} e^{2\pi i m n p \tau} + \\ &\quad + p^{-1} \sum_{n=1}^{\infty} \sum_{m=1}^{\infty} m^{-q} e^{2\pi i m n \tau / p} \sum_{b=0}^{p-1} e^{2\pi i m n b / p} . \end{aligned}$$

Since

$$\sum_{b=0}^{p-1} e^{2\pi i m n b / p} = \begin{cases} 0 & \text{if } p \nmid mn \\ p & \text{if } p \mid mn \end{cases} ,$$

the second sum is

$$\begin{aligned} p^{-1} \sum_{\substack{m, n \\ p \mid mn}} p m^{-q} e^{2\pi i m n \tau / p} &= \sum_{\substack{m, n \\ p \mid m}} m^{-q} e^{2\pi i m n \tau / p} + \sum_{\substack{m, n \\ p \mid n}} m^{-q} e^{2\pi i m n \tau / p} - \\ &\quad - \sum_{\substack{m, n \\ p \mid m \text{ and } p \mid n}} m^{-q} e^{2\pi i m n \tau / p} . \end{aligned}$$

However,

$$\sum_{\substack{m, n \\ p \mid m}} m^{-q} e^{2\pi i m n \tau / p} = p^{-q} \sum_{\substack{m', n \\ p \mid m'}} m'^{-q} e^{2\pi i m' n \tau} , \quad \text{where } pm' = m ,$$

$$\sum_{\substack{m, n \\ p|n}} m^{-q} e^{2\pi i m n \tau / p} = \sum_{m, n'} m^{-q} e^{2\pi i m n' \tau}$$

where $pn' = n$, and

$$\sum_{\substack{m, n \\ p|m \text{ and } p|n}} m^{-q} e^{2\pi i m n \tau / p} = p^{-q} \sum_{m', n'} m'^{-q} e^{2\pi i m' n' \tau} .$$

Hence one concludes that

$$T(p)H_q(\tau) = (1 + p^{-q})H_q(\tau) = p^{-q}\sigma_q(p)H_q(\tau) ,$$

since $\sigma_q(p) = 1 + p^q$.

To prove (2.2) for prime powers one needs to use the following identity for Hecke operators of weight $1 - q$ (see [2] or [9] for a discussion of this and other properties of Hecke operators)

$$(2.3) \quad T(p^s) = T(p)T(p^{s-1}) - p^{-q}T(p^{s-2})$$

for all positive integers $s \geq 2$. Now note that $T(p^0)H_q(\tau) = (p^0)^{-q}\sigma_q(p^0)H_q(\tau)$ is trivially true, so that the identity

$$(2.4) \quad T(p^k)H_q(\tau) = p^{-kq}\sigma_q(p^k)H_q(\tau)$$

holds for $k=0$ and $k=1$. To complete the induction argument assume (2.4) holds for $k-1$ and $k-2$. Then from (2.3),

$$\begin{aligned} T(p^k)H_q(\tau) &= T(p)T(p^{k-1})H_q(\tau) - p^{-q}T(p^{k-2})H_q(\tau) \\ &= p^{-q}\sigma_q(p)(p^{k-1})^{-q}\sigma_q(p^{k-1})H_q(\tau) - p^{-q}(p^{k-2})^{-q}\sigma_q(p^{k-2})H_q(\tau) \\ &= p^{-kq}[\sigma_q(p)\sigma_q(p^{k-1}) - p^q\sigma_q(p^{k-2})]H_q(\tau) . \end{aligned}$$

Employing the easily verified identity $\sigma_q(p)(p^m) = \sigma_q(p^{m+1}) + p^q\sigma_q(p^{m-1})$ with $m = k-1$, one obtains (2.4).

To prove (2.2) for arbitrary n , one uses the identity

$$(2.5) \quad T(mn) = T(m)T(n) \quad \text{for } (m, n) = 1 .$$

Employing (2.5) as well as the multiplicativity of σ_q , (2.2) follows immediately for all n from (2.4).

3. Generalized Dedekind sums and some of their properties.

The *Bernoulli polynomials* $B_r(x)$ are defined by

$$ze^{xz}/e^z - 1 = \sum_{r=0}^{\infty} B_r(x)z^r/r! .$$

The *Bernoulli numbers* are given by $B_r = B_r(0)$. One defines the *periodic Bernoulli function of order r* by $\bar{B}_r(x) = B_r(x - [x])$. Now let $q, r \in \mathbf{Z}^+$ with $0 \leq r \leq q + 1$. The *generalized Dedekind sum* with $h, k \in \mathbf{Z}$, $k > 0$ is

$$c_r(h, k) = \sum_{\mu \pmod{k}} \bar{B}_{q+1-r}\left(\frac{\mu}{k}\right) \bar{B}_r\left(\frac{h\mu}{k}\right).$$

(Note that the dependence of c_r on q is not reflected by the notation.) These generalized Dedekind sums arise in the transformation formulae for the functions $H_q(\tau)$ (given in section 4). They have been studied by many authors including Apostol [3] who proved a reciprocity law for them, Carlitz [5], [6], [7] who has shown that they satisfy many properties analogous to those satisfied by classical Dedekind sums, and K. Barner [4] and H. Lang [13], [14] who have shown that these generalized Dedekind sums arise in the evaluation of certain zeta-functions and L -functions for real quadratic fields at integral points.

Some properties of the sums $c_r(h, k)$ will now be mentioned. First note that $c_r(h+k, k) = c_r(h, k)$. Since $\bar{B}_r(-x) = (-1)^r \bar{B}_r(x)$ one sees that $c_r(h, k) = 0$ if q is even and $0 \leq r \leq q + 1$. Also $c_r(-h, k) = (-1)^r c_r(h, k)$. One also easily sees that when $(h, k) = 1$,

$$c_0(h, k) = c_{q+1}(h, k) = k^{-q} B_{q+1}.$$

The following simple property of $c_r(h, k)$ has been proved by Carlitz [7; Theorem 3].

LEMMA 3.1. *Let n, q , and r be positive integers with $0 \leq r \leq q + 1$. Then*

$$c_r(nh, nk) = n^{r-q} c_r(h, k).$$

Carlitz [7; Theorem 6] has also proved the following identity in a manner analogous to the proof given by Rademacher and Whiteman for (1.1).

THEOREM 3.2. *Let $q \in \mathbf{Z}^+$, $r \in \mathbf{Z}$, $0 \leq r \leq q + 1$, and let p be prime. Then*

$$(3.3) \quad \sum_{m=0}^{p-1} c_r(h+mk, pk) = (p+p^{1-q})c_r(h, k) - p^{1-r}c_r(ph, k).$$

In the next section, the following new identity for these generalized Dedekind sums, containing (3.3) as a special case, will be established.

THEOREM 3.4. *Let $q, r \in \mathbf{Z}$ with $q > 1$, $0 \leq r \leq q + 1$, and $n \in \mathbf{Z}^+$. Then*

$$(3.5) \quad \sum_{\substack{ad=n \\ d>0}} \sum_{b(\bmod d)} d^{r-1} c_r(ah+bk, dk) = n^{r-a} \sigma_q(n) c_r(h, k).$$

When n is prime it is easy to see that (3.5) reduces to (3.3).

4. Transformation formulae for $H_q(\tau)$ and a new identity for generalized Dedekind sums.

Apostol [1], Iseki [10], and Mikolás [15] have proved the following transformation formula $H_q(\tau)$, given below in a form convenient for its subsequent use.

THEOREM 4.1. *Let*

$$V = \begin{pmatrix} u & w \\ k & h \end{pmatrix} \in \mathrm{SL}_2(\mathbf{Z})$$

and let q be an odd integer. Then

$$(k\tau + h)^{q-1} H_q\left(\frac{u\tau + w}{k\tau + h}\right) = H_q(\tau) + f_V(\tau)$$

where

$$\begin{aligned} f_V(\tau) = & \frac{1}{2} \zeta(q) \left[1 - (-1)^{\frac{1}{2}(q-1)} \left(\frac{k\tau + h}{i}\right)^{q-1} \right] + \\ & + \frac{(2\pi)^q}{2(q+1)!} \left(\frac{k\tau + h}{i}\right)^q \sum_{r=0}^{q+1} \binom{q+1}{r} (k\tau + h)^{-r} (-1)^r c_r(h, k). \end{aligned}$$

Note that Theorem 4.1 shows that $H_q(\tau)$ is a modular integral of weight $q-1$ with rational period function $f_V(\tau)$, as discussed in [12] and [16] for instance.

To establish a new identity for generalized Dedekind sums, one evaluates

$$T(n)H_q(V\tau) \quad \text{for } V = \begin{pmatrix} u & w \\ k & h \end{pmatrix} \in \mathrm{SL}_2(\mathbf{Z})$$

in two different ways. Comparing the results the identity is found.

First, note that from Theorems 2.1 and 4.1 one has

$$\begin{aligned} (4.2) \quad T(n)H_q(V\tau) &= n^{-a} \sigma_q(n) H_q(V\tau) \\ &= n^{-a} \sigma_q(n) (k\tau + h)^{1-a} (H_q(\tau) + f_V(\tau)). \end{aligned}$$

On the other hand, when one begins by using the definition of $T(n)$ and then employs the transformation formula one obtains

$$T(n)H_q(V\tau) = n^{-q} \sum_{\substack{ad=n \\ d>0}} d^{q-1} \sum_{b(\bmod d)} H_q(M_{b,d}V\tau)$$

where

$$M_{b,d} = \begin{pmatrix} a & b \\ 0 & d \end{pmatrix}.$$

For each $M_{b,d}$ there exists

$$M' = \begin{pmatrix} a' & b' \\ 0 & d' \end{pmatrix}, \quad a'd' = n, \quad d' > 0,$$

such that $M_{b,d}V = V'M'$ where

$$V' = \begin{pmatrix} u' & w' \\ k' & h' \end{pmatrix} = \begin{bmatrix} \frac{d'(au+bk)}{n} & \frac{-aub' - bb'k + aa'w + ba'h}{n} \\ \frac{dd'k}{n} & \frac{a'dh - b'dk}{n} \end{bmatrix}$$

with $V' \in \mathrm{SL}_2(\mathbf{Z})$. Furthermore, as the $M_{b,d}$ run through all matrices subject to the conditions $ad=n$, $d>0$, $b(\bmod d)$, the M' do as well. Hence

$$\begin{aligned} T(n)H_q(V\tau) &= n^{-q} \sum d^{q-1} H_q(V'M'\tau) \\ &= n^{-q} \sum d^{q-1} (k'M'\tau + h')^{1-q} (H_q(M'\tau) + f_{V'}(M'\tau)) \end{aligned}$$

where the unindexed summations here and below are over the set of (a, b, d) with $ad=n$, $d>0$, and $b(\bmod d)$. Next note that since

$$(4.3) \quad k'M'\tau + h' = k' \frac{a'\tau + b'}{d'} + h' = \frac{d}{d'} (k\tau + h)$$

one has

$$\begin{aligned} T(n)H_q(V\tau) &= n^{-q} (k\tau + h)^{1-q} \sum d'^{q-1} (H_q(M'\tau) + f_{V'}(M'\tau)) \\ &= (k\tau + h)^{1-q} T(n)H_q(\tau) + n^{-q} (k\tau + h)^{1-q} \sum d'^{q-1} f_{V'}(M'\tau) \\ &= n^{-q} \sigma_q(n) (k\tau + h)^{1-q} H_q(\tau) + n^{-q} (k\tau + h)^{1-q} \sum d'^{q-1} f_{V'}(M'\tau) \end{aligned}$$

where Theorem 2.1 has been used. By comparing this expression for $T(n)H_q(V\tau)$ with that of (4.2) it follows that

$$(4.4) \quad \sigma_q(n) f_V(\tau) = \sum d'^{q-1} f_{V'}(M'\tau).$$

To discover an identity for generalized Dedekind sums one next substitutes the definition of $f_V(\tau)$ into (4.4). The left hand side is

$$\sigma_q(n) \left[\frac{1}{2} \zeta(q) \left(1 - (-1)^{\pm(q-1)} \left(\frac{k\tau + h}{i} \right)^{q-1} \right) + \frac{(2\pi)^q}{2(q+1)!} \left(\frac{k\tau + h}{i} \right)^q \sum_{r=0}^{q+1} \binom{q+1}{r} (k\tau + h)^{-r} (-1)^r c_r(h, k) \right].$$

The right hand side is

$$\begin{aligned} & \sum d^{q-1} \left[\frac{1}{2} \zeta(q) \left(1 - (-1)^{\pm(q-1)} \left(\frac{k'M'\tau + h'}{i} \right)^{q-1} \right) + \frac{(2\pi)^q}{2(q+1)!} \left(\frac{k'M'\tau + h'}{i} \right)^q \sum_{r=0}^{q+1} \binom{q+1}{r} (k'M'\tau + h')^{-r} (-1)^r c_r(h', k') \right] \\ &= \frac{1}{2} \zeta(q) \sum d^{q-1} - \frac{1}{2} \zeta(q) (-1)^{\pm(q-1)} \left(\frac{k\tau + h}{i} \right)^{q-1} \sum d^{q-1} + \\ &+ \frac{(2\pi/i)^q}{2(q+1)!} \sum_{r=0}^{q+1} \binom{q+1}{r} (k\tau + h)^{q-r} (-1)^r \sum d^{q-r} d^{r-1} c_r(h', k') \end{aligned}$$

where (4.3) has been used. To simplify this expression note that

$$\sum_{\substack{ad=n \\ d>0}} \sum_{b(\bmod d)} d^{q-1} = \sum_{\substack{ad=n \\ d>0}} \sum_{b(\bmod d)} d^{q-1} = \sum_{\substack{ad=n \\ d>0}} d^q = \sigma_q(n).$$

Also using Lemma 3.1, one has

$$\begin{aligned} c_r(h', k') &= c_r \left(\frac{a'dh - b'dk}{n}, \frac{dd'k}{n} \right) \\ &= \left(\frac{d}{n} \right)^{r-q} c_r(a'h - b'k, d'k). \end{aligned}$$

From this one finds that

$$\begin{aligned} \sum d^{q-r} d^{r-1} c_r(h', k') &= n^{q-r} \sum d^{r-1} c_r(a'h - b'k, d'k) \\ &= n^{q-r} \sum d^{r-1} c_r(a'h + (d' - b')k, d'k) \\ &= n^{q-r} \sum d^{r-1} c_r(a'h + b'k, d'k) \\ &= n^{q-r} \sum d^{r-1} c_r(ah + bk, dk). \end{aligned}$$

Consequently, the right hand side of (4.4) is

$$\begin{aligned} & \frac{1}{2} \sigma_q(n) \zeta(q) - \frac{1}{2} \sigma_q(n) \zeta(q) (-1)^{\pm(q-1)} \left(\frac{k\tau + h}{i} \right)^{q-1} + \\ &+ \frac{(2\pi/i)^q}{2(q+1)!} \sum_{r=0}^{q+1} \binom{q+1}{r} (k\tau + h)^{q-r} (-1)^r n^{q-r} \sum_{\substack{ad=n \\ d>0}} \sum_{b(\bmod d)} d^{r-1} c_r(ah + bk, dk). \end{aligned}$$

By comparing coefficients of powers of $k\tau + h$ in the two sides of (4.4) one finds for $0 \leq r \leq q + 1$ that

$$\sum_{\substack{ad=n \\ d>0}} \sum_{b \pmod{d}} d^{r-1} c_r(ah + bk, dk) = n^{r-q} \sigma_q(n) c_r(h, k).$$

This is the identity of Theorem 3.4. To prove the theorem note that for q odd if $(h, k) = 1$ one can find u and w so that

$$\begin{pmatrix} u & w \\ h & k \end{pmatrix} \in \mathrm{SL}_2(\mathbf{Z})$$

and from the above work the theorem is true, and if $(h, k) > 1$, the theorem is also valid as is seen by the use of Lemma 3.1. When q is even the theorem is vacuously true, since in this case all the generalized Dedekind sums vanish.

REFERENCES

1. T. Apostol, *Generalized Dedekind sums and transformation formulae of certain Lambert series*, Duke Math. J. 17 (1950), 147–157.
2. T. Apostol, *Modular Functions and Dirichlet Series in Number Theory* (Graduate Texts in Mathematics 41), Springer-Verlag, Berlin - Heidelberg - New York, 1976.
3. T. Apostol, *Theorems on generalized Dedekind sums*, Pacific J. Math. 2 (1952), 1–9.
4. K. Barner, *Über die Werte der Ringklassen-L-Funktionen reell-quadratischer Zahlkörpern an natürlichen Argumentstellen*, J. Number Theory 1 (1969), 28–64.
5. L. Carlitz, *Dedekind sums and Lambert series*, Proc. Amer. Math. Soc. 5 (1954), 580–584.
6. L. Carlitz, *Linear relations among generalized Dedekind sums*, J. Reine Angew. Math. 220 (1965), 154–162.
7. L. Carlitz, *Some theorems on generalized Dedekind sums*, Pacific J. Math. 3 (1953), 513–522.
8. R. Dedekind, *Erläuterungen zu der Riemannschen Fragmenten über die Grenzfälle der elliptischen Funktionen*, Gesammelte Math. Werke 1, Braunschweig 1930, 159–173.
9. R. C. Gunning, *Lectures on Modular Forms* (Annals of Mathematics Studies 48), Princeton University Press, Princeton, 1962.
10. S. Iseki, *The transformation formula for the Dedekind modular function and related functional equations*, Duke Math. J. 24 (1957), 653–662.
11. M. I. Knopp, *Hecke operators and an identity for the Dedekind sums*, J. Number Theory (to appear).
12. M. I. Knopp, *Rational periods of the modular group*, Duke Math. J. 45 (1978), 47–62.
13. H. Lang, *Über eine Gattung elementar-arithmetischer Klasseninvarianten reell-quadratischer Zahlkörper*, J. Reine Angew. Math. 233 (1968), 123–175.
14. H. Lang, *Über Anwendungen höherer Dedekindscher Summen auf die Struktur elementar-arithmetischer Klasseninvarianten reell-quadratischer Zahlkörper*, J. Reine Angew. Math. 254 (1972), 17–32.

15. M. Mikolás, *Über gewisse Lambertsche Reihen, I: Verallgemeinerung der Modulfunktion $\eta(\zeta)$ und ihrer Dedekindschen Transformationsformel*, Math. Z. 68 (1957), 100–110.
16. L. A. Parson and K. Rosen, *Automorphic integrals and rational period functions for the Hecke groups*, (to appear).
17. H. Rademacher and A. Whiteman, *Theorems on Dedekind sums*, Amer. J. Math. 63 (1941), 377–407.

DEPARTMENT OF MATHEMATICS
THE OHIO STATE UNIVERSITY
COLUMBUS, OHIO 43210, USA

AND

DEPARTMENT OF MATHEMATICS
THE UNIVERSITY OF MAINE
ORONO, MAINE 04469, USA